Econ 339 PFG Homework




Name 






INITIALIZATION TABLE

------------------------------------------------------------------------------------------------------------------------------

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)

Show
# of
700 lb
Current
Proj.
Actual
         Actual Break-Even Price

Week
List
Pens
Feeder
Cost of
Break-
Cost      --------------------------------------------------

Week
Placed
Price
Gain/lb
Even
of Gain
1100
1125
1150
1175
1200

------------------------------------------------------------------------------------------------------------------------------


1
17
36
$99.72
$0.45
$78.31
$0.473
$80.62
$79.92
$79.21
$80.10
$81.47


2
18
36
98.71
0.46
78.09
0.474
79.98
79.26
78.59
79.54
.


3
19
36
97.94
0.46
77.61
0.476
79.55
78.85
78.24
.


4
20
36
99.49
0.46
78.56
.
80.58
79.92
.


5
21
36
97.71
0.47
77.86

79.56
.


6
22
36
97.95
0.47
78.01

.


7
23
38
97.25
0.47
77.59


8
24
40
96.54
0.47
77.16


 9
25
40
95.22
0.48
76.74


10
26
40
94.52
0.48
76.31


11
27
40
93.46
0.48
75.67


12
28
40
92.22
0.48
74.92


13
29
40
90.81
0.48
74.06


14
30
40
89.58
0.48
73.31


15
31
40
88.52
0.48
72.67


16
32
42
87.29
0.48
71.92


17
33
43
86.06
0.48
71.16


18
34
44
85.00
0.48
70.52


19
35
45
84.12
0.48
69.98


20
36
46
83.24
0.48
69.45


21
37
47
82.53
0.48
69.02


22
38
47
83.17
0.47

23
39
46
84.33
0.47

24
40
45
86.08
0.47

25
41
45
87.63
0.47

26
42
44
89.95
0.47



.
.
.

Questions on back


FEEDLOT ECONOMICS HOMEWORK PROBLEMS
Calculate the next set of break-even prices to appear on the initialization sheet, i.e., the break-even prices for cattle on the show list in week #22.  Follow a format just like the one above and show all the figures you use.  You will have to calculate your own actual costs of gain; assume the cost of gain for week #22 is $0.48 per pound of gain.

The break-even price for cattle weighing 1100 pounds during week #22 is:

Purchase Cost (        cwt. x $            /cwt.)



= $

Feed Cost [(        lb. -         lb.) x $            /lb.]
= $            
Total Cost







= $

Break-Even (Total Cost /         cwt.)




= $            /cwt.

The break-even price for cattle weighing 1125 pounds during week #22 is:

Purchase Cost (        cwt. x $            /cwt.)



= $

Feed Cost [(        lb. -         lb.) x $            /lb.]
= $            
Total Cost







= $

Break-Even (Total Cost /         cwt.)




= $            /cwt.

The break-even price for cattle weighing 1150 pounds during week #22 is:

Purchase Cost (        cwt. x $            /cwt.)



= $

Feed Cost [(        lb. -         lb.) x $            /lb.]
= $            
Total Cost







= $

Break-Even (Total Cost /         cwt.)




= $            /cwt.

The break-even price for cattle weighing 1175 pounds during week #22 is:

Purchase Cost (        cwt. x $            /cwt.)



= $

Feed Cost [(        lb. -         lb.) x ($            /lb. x         )]
= $            
Total Cost







= $

Break-Even (Total Cost /         cwt.)




= $            /cwt.

The break-even price for cattle weighing 1200 pounds during week #22 is:

Purchase Cost (        cwt. x $            /cwt.)



= $

Feed Cost [(        lb. -         lb.) x ($            /lb. x         )]
= $            
Total Cost







= $

Break-Even (Total Cost /         cwt.)




= $            /cwt.
Now calculate the break-even price for the cattle that weigh 1100 pounds during week #22 for each of the next five weeks if the feed cost is as shown in the table.


Week 
22

23
24
25
26


Weight
1100

1125
1150
1175
1200


Breakeven
_______
_______
_______
_______
________



Name 







MEATPACKING ECONOMICS HOMEWORK PROBLEMS
This work sheet consists of the two questions meatpackers must ask: (1) What is the minimum cost volume of cattle to purchase? (2) What price can I pay for cattle?

1. Given the information below for two meatpacking plants, complete the table by computing the average total cost (ATC) per head for each volume of cattle purchased.

Slaughter/week
Pens/week
Total Cost
ATC/Head

   (Head)

Plant 1

    700
   7          
 $51,240
$            
    800
   8
  54,448
             
    900
   9           
  59,643 
             
   1000
  10
  68,190
             
   1100
  11           
  81,620
             
   1200
  12
 101,760
             
   1300
  13           
 130,000
             
Plant 2

    700
   7           
 $55,902    
$            
    800
   8
  58,240
             
    900      
   9           
  60,759      
             
   1000
  10
  64,190
             
   1100             
  11            
  69,333      
             
   1200
  12
  77,100
             
   1300              
  13            
  88,465      
             
What is the minimum cost volume?  Plant 1            pens.  Plant 2            pens.

2. Calculate the losses these plants would experience if they decide to close for a given week.  Suppose Plant 1 has fixed costs of $33,000 per week and Plant 2 has fixed costs of $38,000 per week.

What is the loss per unit of minimum cost volume?  Plant 1 $            /head.  Plant 2 $            /head.

3. Given the information in the Cattle Characteristics table and the Price Discount table, use the work sheet below to compute the price bid ($/cwt.) for 1100, 1150, and 1200 pound cattle.  You project the boxed beef price to be $110.00/cwt., byproducts are valued at $8.50/cwt., projected processing costs are $75.00/head, and your target profit is $10.00/head.

Bid Price Development
Cattle Weight


1100 lb.
1150 lb.
1200 lb.

STEP 1: Compute Adjusted Boxed Beef Price
Boxed Beef Price (Ch 1-3, 550-700)
          
          
          
          
Less Discounts:

% Select x $ Discount        

          
          
          
          
% YG 4-5 x $ Discount

          
          
          
          
% Light or Heavy x $ Discount

          
          
          
          
Sum for Adjusted Boxed Beef Price
          
          
          
          
STEP 2: Convert to Liveweight
Adjusted Price x Dressing %

          
          
          
          
STEP 3: Add Byproducts Value
Step 2 + $8.50 Byproducts value  
          
          
          
          
STEP 4: Cost Plus Profit
$/Head Cost + $/Head Profit Target = $/Head Margin

$/Head Margin / Liveweight (cwt)
          
          
          
          
STEP 5: STEP 3 - STEP 4 = Bid Price
          
          
          
          
Quick and Dirty Bid Price

          
          
          
          
2

